Mass (TeV) TeTe T Ty Ty Ty TeTh TuTh ThTh

B(tT) 3.2% 6.2% 3.0% 23.1% 22.6% 41.9%
Esig(%0) 0.8 28+07 34405 42+07 33+£03 44+03 22402

0.9 11+1 16 +£1 20+2 143+05 187+0.6 115404

1.0 17 £ 2 24 +1 38 +2 21.2+06 293+07 180+05

1.2 26 +2 30+1 39 +£2 283+07 358+07 23.0+£05

1.5 30 +2 42 +2 53+ 2 292+08 381+09 291+07

2.0 28 +2 39 +2 56 + 3 3111 +08 392+09 319+07

2.5 27 £ 2 37 £ 2 42 + 2 26808 37.0+08 30.1+0.7
Npkg 0.8 03+05 114+08 16+12 6.1+20 6.7 £2.1

0.9 05+£04 174+12 38+21 98+32 92+29

1.0 14414 17£10 20£09 95435 7.6 £2.2

1.2 12412 12+08 144+£06 50+20 6.6 +£2.3 6.15’%

1.5 04+04 0074+004 09+04 43418 26 £09

2.0 <0.5 <0.4 0.7+£04 01=+0.1 <0.4

2.5 <2.1 <0.3 03+£01 0.18 +0.05 <0.5
N ps 0.8 1 1 2 3 10

0.9 2 2 3 4 13

1.0 2 2 5 2 13

1.2 0 1 3 5 12 8

1.5 0 0 1 2 5

2.0 0 1 0 0 0

2.5 0 0 0 0 0




